

## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2025

Progress Estimate Number 5	Contract ID Prime Contract		16-B04 Miller Company	•	riod Start riod End	June 2, 2025 June 15, 2025	Original Contract Amount Net Change Order Amount Current Contract Amount	\$3,258,740.14 \$0.00 \$3,258,740.14			
Approval Date								By User			
June 16, 2025		Draft) at the Project Office Level by	sandic1								
June 16, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level										
June 18, 2025				Revie	ved and App	roved at the Centr	al Office Controllers Office Level by	ramses1			
Original Completi	on Date	Current C	ompletion Date	A	tual Compl	etion Date	% of Current Contract Amount	Complete			
November 1, 2	025	Noven	nber 1, 2025				84.76%				
	Cont	tract Informa	tional Dates				Milestones				
Date Description	Original Com	pletion Date	Current Complet	ion Date		No Milesto	nes Exist for Contract				
Acceptance Date											
Awarded Date	September 5, 2024 September 5, 2024										
Letting Date	August 16, 202	24	August 16, 2024								
Notice to Proceed Date	October 7, 202	24	October 7, 2024								
Work Began Date	April 28, 2025		April 28, 2025								

Contract Total Pa	Contract Total Pay For Estimate No. 5										
		This Estimate	Previous	To Date							
240816-B04	Total Posted Items Pay	\$1,056,875.28	\$1,705,178.53	\$2,762,053.81							
	Gross Item Adjustments	(\$10,592.83)	(\$14,265.14)	(\$24,857.97)							
	Incentive Disincentive	\$0.00	\$0.00	\$0.00							
	Liquidated Damage	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00							
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
			\$1,690,913.39	\$2,737,195.84							
Contract Total Pa	ayable This Estimate:	\$1,046,282.45									

tems	Paid	<b>This</b>	<b>Estim</b>	ate	Perio	d

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JST0103	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$125.000	169.930	\$21,241.25
	0020	4071005	TACK COAT	GAL	\$3.000	9,494	\$28,482.00
	0030	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	LS	\$33,250.000	0.200	\$6,650.00
	0070	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$2.000	5,908	\$11,816.00
	0800	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$10.500	1,011	\$10,615.50
	0090	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$87.000	8,083.290	\$703,246.23
	0120	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$87.000	3,158.900	\$274,824.30
Project IST	T0102 Tot	al					\$1 056 975 29

## Project JST0103 - Total \$1,056,875.28 Overall - Total \$1,056,875.28

### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	Adjust	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0103	0050	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user sandic1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	66,553.60000	\$0.14	\$9,317.50
	0050	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-66,553.60000	\$0.14	(\$9,317.50)
	0060	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item	100,621.60000	\$0.10	\$10,062.16

Revision 5/29/2025 Page 1 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2025

Progress Estimate Number 5		Contract ID ber Prime Contractor	240816-B04 W. L. Miller Co		Pay Period Start Pay Period End	June 2, 2025 June 15, 2025	Net Cha	Original Contract Amount Net Change Order Amount Current Contract Amount			
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
JST0103		MARKING PAINT, TYPE P BEADS				) due to user sandi ent Estimate Excep ent Estimate.					
	0060	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material					-100,621.60000	\$0.10	(\$10,062.16)	
	0090	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Can be found on e	r Route D, estimate eprojects	0005.			(\$6,335.28)	
	0120	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Can be found on e	r Route W, estimate eprojects	e 0005.			(\$2,475.79)	
	0120	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Overrun					-20.48000	\$87.00	(\$1,781.76)	
Total										(\$10,592.83)	

Revision 5/29/2025 Page 2 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ntract Project Informatio	n						
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
JST0103	Resurface D,H,T,W ADAIR on Sullivan/Adair Rte. D from Rte. 6 to Rte. 149, on Schuyler Rte. H from Rte. 136 to Rte. W, on Schuyler Rte. W from Putnam County line to Rte. 63, and on Adair Rte. T from Rte. 63 to end of state maintenance												
Totals I	by Job N	umbers											
JST0103					This Estimate	Previous	To Date	1					
	Posted Item Pay Gross Item Adjustments				\$1,056,875.28 (\$10,592.83)	\$1,705,178.53 (\$14,265.14)	\$2,762,053.81 (\$24,857.97)						
	GIUS					04 000 040 00	20 -0- 10- 61						
	Gios	,	Gross	item Pay	\$1,046,282.45	\$1,690,913.39	\$2,737,195.84						
	Incen	Í	Gross	Item Pay	<b>\$1,046,282.45</b> \$0.00	<b>\$1,690,913.39</b> \$0.00	\$2,737,195.84 \$0.00						
	Incen	Í	Gross	Item Pay									
	Incen Disin Liqui	tive	S	Item Pay	\$0.00	\$0.00	\$0.00						

Revision 5/29/2025 Page 3 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JST0103, Item 6206000C, Project Item Line Number 0050, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	sandic1	Overridden
Estimate Exception Type: Insufficient Materials: Project JST0103, Item 6206000C, Project Item Line Number 0050, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	sandic1	Overridden
Estimate Exception Type: Insufficient Materials: Project JST0103, Item 6206001C, Project Item Line Number 0060, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	sandic1	Overridden
Estimate Exception Type: Insufficient Materials: Project JST0103, Item 6206001C, Project Item Line Number 0060, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	sandic1	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-B04, Contract Project JST0103, Project Item Line Number 0120, Contract Line Item Number 0120, Item 4020521, Minor Item.	No Remark was entered by Engineer	sandic1	Acknowledged

Revision 5/29/2025 Page 4 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240816-	JST0103	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	632.00	0.00	632.00	TONS	435.24	\$125.00	\$54,405.00
B04		0001	0020	4071005	TACK COAT	31,935.00	0.00	31,935.00	GAL	27,970.00	\$3.00	\$83,910.00
		0001	0030	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$33,250.00	\$31,587.50
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$57,275.00	\$57,275.00
		0001	0050	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	140,596.00	0.00	140,596.00	LF	66,553.60	\$0.14	\$9,317.50
		0001	0060	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	318,431.00	0.00	318,431.00	LF	100,621.60	\$0.10	\$10,062.16
		0001	0070	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	5,908.00	0.00	5,908.00	SQYD	5,908.00	\$2.00	\$11,816.00
		0001	0080	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,034.00	0.00	3,034.00	SQYD	2,450.00	\$10.50	\$25,725.00
		0050	0090	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	12,777.70	0.00	12,777.70	TONS	12,103.66	\$87.00	\$1,053,018.42
		0051	0100	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	5,571.00	0.00	5,571.00	TONS	5,571.00	\$87.00	\$484,677.00
		0052	0110	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	7,843.80	0.00	7,843.80	TONS	7,834.42	\$83.00	\$650,256.86
		0053	0120	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	7,480.90	0.00	7,480.90	TONS	7,501.38	\$87.00	\$652,620.06
	Project J	ST0103 - To	otal Value	Posted to D	vate as of Report Generated Date							\$3,124,670.50
240816-B	40816-B04 Overall - Total Value Posted to Date as of Report Generated Date											\$3,124,670.50

Revision 5/29/2025 Page 5 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JST0103

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	6/5/25	6/9/25	1	169.93	TONS		15.958		23.297		20.48 tons is for Route H.
0020	4071005	TACK COAT	6/2/25	6/9/25	1	2,045.00	GAL		18.651		22.443		
			6/4/25	6/9/25	1	1,363.00	GAL		22.029		23.297		Quantity for both eastbound and westbound
			6/6/25	6/9/25	1	1,120.00	GAL		4.392		1.084		
			6/9/25	6/16/25	1	1,168.00	GAL		4.392		2.277		
			6/10/25	6/16/25	1	974.00	GAL		2.277		0.233		
			6/11/25	6/16/25	1	1,266.00	GAL		4.423		8.139		
			6/12/25	6/16/25	1	779.00	GAL		4.423		6.734		
			6/13/25	6/16/25	1	779.00	GAL		8.139		10.049		
0030	6169901	MISC.	6/13/25	6/16/25	- 1	0.20	LS		0+00				
0070	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	6/2/25	6/9/25	1	5,908.00	SQYD		22.298		22.749		
0800	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6/2/25	6/9/25	1	239.00	SQYD		22.289		22.749		
			6/4/25	6/9/25	1	285.00	SQYD		22.808		23.297		
			6/9/25	6/16/25	1	238.00	SQYD		0.233		4.392		
			6/12/25	6/16/25	1	111.00	SQYD		4.423		4.432		
			6/13/25	6/16/25	1	138.00	SQYD	Route O and milling at the culvert	7.409		7.431		
0090	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	6/6/25	6/9/25	1	1,602.46	TONS		4.392		1.084		
			6/9/25	6/16/25	1	1,406.29	TONS		4.392		0.277		
			6/10/25	6/16/25	1	1,014.04	TONS		2.277		0.233		
			6/11/25	6/16/25	1	1,878.41	TONS		4.423		8.139		
			6/12/25	6/16/25	1	1,146.34	TONS		4.423		6.734		
			6/13/25	6/16/25	1	1,035.75	TONS		8.139		10.049		
120	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	6/2/25	6/9/25	1	2,021.24	TONS		18.651		22.443		
			6/4/25	6/9/25	1	1,137.66	TONS		22.029		23.297		Quantity for both eastbound and westbound lanes
5001	4029910	MISC. BITUMINOUS PAVEMENT (SURF. LEVEL)	6/2/25	6/9/25	1	3.00	TONS		18.892		18.97		Used approximately 3 tons
			6/11/25	6/16/25	1	2.16	TONS		6.432				
			6/12/25	6/16/25	1	5.22	TONS		5.621		7.18		
			6/13/25	6/16/25	1	1.57	TONS		9.387		9.402		
002	6229905	MISC. COLDMILLING	6/2/25	6/9/25	1	17.00	SQYD		18.892		18.97		
			6/9/25	6/16/25	1	20.00	SQYD		0.233		0.25		
			6/11/25	6/16/25	1	10.00	SQYD		6.432				
			6/12/25	6/16/25	1	42.00	SQYD		5.621		7.18		
			6/13/25	6/16/25	1	29.00	SQYD		9.387		9.402		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 6 of 9



## Line Item Adjustments by Estimate

Contract ID: 240816-B04

Material   Section   Control   Con	ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Total	0103	0010	OR CRUSHED	Material		3		SYSTEM	(\$22,950.00)	
Material - Total			STONE (B)			3		SYSTEM	\$22,950.00	Estimate Item Adjustment (0001) due to user sandic1 overridding Payment
					- Total				\$0.00	
Name				Material - To	otal				\$0.00	
WATERGORNE   PAVEMENT		0010 -	Total						\$0.00	
MARKING		0050	WATERBORNE	Material		4		SYSTEM	(\$9,317.50)	
Part						4		SYSTEM	\$9,317.50	Estimate Item Adjustment (0001) due to user sandic1 overridding Payment
PACENTAL						5		SYSTEM	(\$9,317.50)	
Material - Total						5		SYSTEM	\$9,317.50	Estimate Item Adjustment (0001) due to user sandic1 overridding Payment
Material					- Total				\$0.00	
A				Material - To	otal				\$0.00	
ACAD - Total		0050 -	Total						\$0.00	
MARKING		0060	WATERBORNE	Material		4		SYSTEM	(\$10,062.16)	
2025   Sun 16, 2025   SySTEM   \$10,062.16   Estimate item Adjustment (0002) due to user sandic1 overridding Payment Estimate item Adjustment (0002) due to user sandic1 overridding Payment Estimate item Adjustment (0002) due to user sandic1 overridding Payment Estimate Exception 3 on the current Payment Estimate.    1					4		SYSTEM	\$10,062.16	Estimate Item Adjustment (0002) due to user sandic1 overridding Payment	
Estimate Item Adjustment (0002) due to user sandict overridding Payment Estimate Exception 3 on the current Payment Estimate.  - Total  - So. 00  - AC Adjustment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects payment for Route D, estimate 0005. Can be found on eprojects.  - ACAD - Total - St. 4						5		SYSTEM	(\$10,062.16)	
Material - Total   \$0.00						5		SYSTEM	\$10,062.16	Estimate Item Adjustment (0002) due to user sandic1 overridding Payment
Solid   Soli					- Total				\$0.00	
Description				Material - Total					\$0.00	
PAVEMENT   MIXTURE   PC58-22H   SUR		0060 -	Total						\$0.00	
PG68-22H (SUR		0090	PAVEMENT		ACAD	5		sandic1	(\$6,335.28)	AC Adjustment for Route D, estimate 0005. Can be found on eprojects
Other Item Adjustment - Total  Other Item Adjustment - Total  Other Item Adjustment - Total  Other Item Adjustment Adjustment Adjustment MixTURE PG58-22H (SUR  ACAD - Total  Other Item Adjustment ACAD - Total  Other Item Adjustment -					ACAD - Total				(\$6,335.28)	
Other Item Adjustment - Total			(0011	Other Item /	Adjustment -	Total			(\$6,335.28)	
PAVEMENT   MIXTURE   PG58-22H   (SUR									(\$6,335.28)	
ACAD - Total   Sun 2		0100	PAVEMENT		ACAD	3		sandic1		
Other Item Adjustment - Total  Other Item Adjustment - Total  Other Item Adjustment - Total  Other Item Adjustment  Other Item Adjustment  ACAD  ACAD  ACAD - Total  Other Item Adjustment - Total  Other Item Adjustment  ACAD - Total  Other Item Adjustment - Total  Other Item Adjustment - Total  Other Item Adjustment  ACAD - Total  Other Item Adjustment - Total  Other Item Adjustment  ACAD - Total  Other Item Adjustment - Total  Other Item Adjustment  ACAD - Total  Other Item Adjustment  (\$6,495.45)  Other Item Adjustment  ACAD - Total  Other Item Adjustment  (\$6,495.45)  Other Item Adjustment  ACAD - Total  (\$6,495.45)  Other Item Adjustment  (\$6,495.45)  Other Item Adjustment  ACAD - Total  (\$6,495.45)  Other Item Adjustment  (\$6,495.45)  Other Item Adjustment  ACAD - Total  (\$6,495.45)  Other Item Adjustment  (\$6,495.45)  Other Item Adjustment Foreau Acade			PG58-22H					sandic1	,	AC Adjustment for Route H, estimate 0004. Can be found on eprojects
O110 - Total  Other Item Adjustment  Other I										
Other Item Adjustment - Total				Other Item /	Adjustment -	Total				
PAVEMENT   MIXTURE   PG58-22H   (SUR				Other Item	ACAD	2	May 1,	sandic1		AC adjustment for estimate 0002. AC adjustment can be found on eprojects.
ACAD - Total   (\$6,495.45)			PAVEMENT MIXTURE				2025		,	, , , , , , , , , , , , , , , , , , ,
Other Item Adjustment - Total  Other Item Adjustment - Total  (\$6,495.45)  O120 BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR  O120 BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR					ACAD - Total				,	
O110 - Total  O120 BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR  O120 BITUMINOUS PAVEMENT Adjustment ACAD 4 Jun 2, 2025 5 Jun 16, 2025 5 Jun 16, 2025 AC Adjustment for Route W, estimate 0004. Can be found on eprojects (\$2,475.79) AC Adjustment for Route W, estimate 0005. Can be found on eprojects				Other Item						
0120 BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR  Other Item Adjustment  ACAD 4 Jun 2, 2025  5 Jun 16, 2025  Sandic1 (\$3,403.42) AC Adjustment for Route W, estimate 0004. Can be found on eprojects  (\$2,475.79) AC Adjustment for Route W, estimate 0005. Can be found on eprojects		0110 -	Total	Junea Itemia	- Macaniont	- otal				
PG58-22H (SUR 5 Jun 16, sandic1 (\$2,475.79) AC Adjustment for Route W, estimate 0005. Can be found on eprojects			BITUMINOUS PAVEMENT		ACAD	4		sandic1		AC Adjustment for Route W, estimate 0004. Can be found on eprojects
ACAD - Total (\$5,879.21)			MIXTURE PG58-22H	XTURE G58-22H		5		sandic1	(\$2,475.79)	AC Adjustment for Route W, estimate 0005. Can be found on eprojects
					ACAD - Tota	al			(\$5,879.21)	

Jun 19, 2025



## Line Item Adjustments by Estimate

Contract ID: 240816-B04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JST0103	0120	BITUMINOUS	Other Item /	Other Item Adjustment - Total				(\$5,879.21)	
		PAVEMENT MIXTURE PG58-22H	Overrun	Overrun	5	Jun 16, 2025	SYSTEM	(\$1,781.76)	
		(SUR		Overrun - To	otal			(\$1,781.76)	
			Overrun - T	otal				(\$1,781.76)	
	0120 - Total							(\$7,660.97)	
JST0103	JST0103 - Total							(\$24,857.97)	
Overall -	Overall - Total						(\$24,857.97)		

# MoDOT

## **Contract Adjustments for Contract -** 240816-B04

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 9 of 9